
Račune prepiši v karo zvezek in jih reši.  

Seštej ali odštej. 

50 + 2 = _____ 

80 + 7 = _____ 

8 + 40 = _____ 

1 + 60 = _____ 

 

66 – 6 = _____ 

73 – 3 = _____ 

34 – 4 = _____ 

97 – 7 = _____ 

4 + 20 = _____ 

55 – 5 = _____ 

30 + 9 = _____ 

49 – 9 = _____ 

 

 

23 + 4 = _____ 

77 + 2 = _____ 

59 + 1 = _____ 

6 + 31 = _____ 

45 + 5 = _____ 

3 + 87 = _____ 

 

78 – 5 = _____ 

36 – 2 = _____ 

50 – 6 = _____ 

20 – 1 = _____ 

69 – 0 = _____ 

90 – 8 = _____ 

37 + 1 = _____ 

44 – 3 = _____ 

80 – 7 = _____ 

56 + 4 = _____ 

8 + 61 = _____ 

29 – 8 = _____ 

 

 

 


